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Problem A: Two cars start moving from the same point. 7 I

One travels south at 60 km per hour, and the other
travels west at 25 km/h. At what rate is the distance

between the cars increasing at time t? @
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Problem B: A water tank has the shape of an inverted

circular cone with base radius 2m and height 4m_If water
is being pumped into the tank at a rate of 2m”3/min,find
the rate at which the water level is rising wheirtive water

m . l—\lib Lg‘\' \,\ k?& N \zu{\
/.7/2/”“ A Do A 4

L= L)

LL“\’ k‘("\') \>< V‘\A—;\/\S "4(
W& C‘vav. F‘“Jk V&rﬂsxcLs
M S\géﬁ»u ’4{ )“'\L \ma\"tf‘,

L o BN N N

\[: ,\5’]_\\(1\,\ = \fo\v\M 4 a Cue &L

) &3\ "

V(K = L\(}(J@L f% ﬁ%}

W o " o L)
{'_ﬂ:w\j& | c\~ W

v olame
\Vﬁ':%f-\f

R AR E N O
(\N\\AR'. ,-.“\ ,}\./LC:”.Af,—\\\ov\' h/::o—_



A VA
(""‘\’K"c\’\ Adﬁ@””‘l‘?‘\%\""i

(=] NS
V) =5 AT

N
X \«|:\\w~ (Hé}. \_\él
\“”‘Q 2l
) W




